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( Digit Values )

What is the value of the underlined digit?
632,814 - The value of the digit 6 is 6 hundred thousands, or 600,00
632,814 - The value of the digit 3 is 3 ten thousands, or 30,000.
632,814 - The value of the digit 2 is 2 thousands, or 2,000.
632,814 - The value of the digit 8 is 8 hundreds, or 800.
632,814 - The value of the digit 1is 1 tens, or 10. ‘
632,814 - The value of the digit 4 is 4 ones, or 4.

Write the value of the underlined digit.
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i. Inthe number above, which digit has the greatest value?

j- Inthe number above, which digit has the least value?

k. Whatis the value of the digit in the thousands place
of the number above?

. Whatis the value of the digit in the ten thousands place
of the number above?
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ANSWER KEY

( Digit Values )

What is the value of the underlined digit?
632,814 - The value of the digit 6 is 6 hundred thousands, or 600,000

632,814 - The value of the digit 3 is 3 ten thousands, or 30,000. ﬁ
632,814 - The value of the digit 2 is 2 thousands, or 2,000. ¢
632,814 - The value of the digit 8 is 8 hundreds, or 800. ﬁ

632,814 - The value of the digit 1is 1 tens, or 10.
632,814 - The value of the digit 4 is 4 ones, or 4.

Wri

"‘ P[F@W e

c. legse log in fo dowr
xh(,, ;vumczl\,/c, version S worksheet.

What is the value of the digit In the thousands place
of the number above? 6,000

. Whatis the value of the digit in the ten thousands place
of the number above? 50,000
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